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00 00 TCP_RO.java

import java.net.¥;
import java.io.*;

public class TCP_RO {
public static void main(String[] argv) {

try {
Socket readSocket = new Socket(argv[0], Integer.parseInt(argv[1]));

InputStream instrm = readSocket.getInputStream();
while(true) {

int ¢ = instrm.read();

if (c==-1) break;

System.out.write(c);

} catch (Exception e) {
e.printStackTrace();
System.exit(1);
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while(true) {
int ¢ = instrm.read();
if (c==-1) break;
System.out.write(c);
3
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byte[] buff = new byte[1024];
while(true) {
int n = instrm.read(buff);
if (n==-1) break;
System.out.write(buff, 0, n);
}
000000000000 000000D000000000 102400 00000000000 InputStream
0000 read QOO0 0O0O0O00O0O0OO0O00O00OOOread(byte[]) D000 O0O0OO0OO0ODODOO
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import java.net.¥;
import java.io.*;

public class TCP_RW {
public static void main(String[] argv) {
byte[] buff = new byte[1024];
try {
Socket rwSocket = new Socket(argv[®], Integer.parseInt(argv[1]));
InputStream instrm = rwSocket.getInputStream();
OutputStream outstr = rwSocket.getOutputStream();
while(true) { // 00000000000
int n = System.in.read(buff);
if (n==-1) break;
outstr.write(buff, 0, n);

b

while(true) { // 00000000000
int n = instrm.read(buff);
if (n==-1) break;
System.out.write(buff, 0, n);

3

} catch (Exception e) {
e.printStackTrace();
System.exit(1);
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GET /index.html HTTP/1.0«
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Server: Apache/X.X
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00 00 UdpClientjava

import java.net.*;
import java.io.*;

public class UdpClient {
public static void main(String[] argv) {
try {
// 0000 pO00O0OO0OO0OOOO0O
InetAddress addr = InetAddress.getByName(argv[0]);
int port = Integer.parselnt(argv[1]);

// 00000000000 00000000oo0ag
DatagramSocket dgSock = new DatagramSocket();
while (true) {
byte buffl[]= new byte[512];
int n = System.in.read(buffl);
// 000000000
DatagramPacket pal = new DatagramPacket(buffl, n, addr, port);
dgSock.send(pal); // O0OOOOO
System.out.println("Sent!");

// 0000000000000 00
byte buff2[] = new byte[512];
DatagramPacket pa2 = new DatagramPacket(buff2, buff2.length);
dgSock.receive(pa2); // OO0OO OO
System.out.printf("received: %s", new String(pa2.getData()));

}

} catch (Exception e) {
e.printStackTrace();
System.exit(1l);

ooooon
java UdpClient DO OOOOO OO0OO0OO

goon
00000 DatagramSocket 1 DO 00 O0O0ODOOO0ODLDOOOODODOOOODOOD ubPO
000000000 00b000 batagramPacketJ 00000000 DOO0ODODOODOOODO

DatagramPacket(byte[] data, int len, InetAddress addr, int port)
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00 00 UdpServer.java

import java.net.¥*;
import java.io.*;

public class UdpServer {
public static void main(String[] argv) {
try {
int port = Integer.parselnt(argv[0]); // O0O0O0OO0OOOO
// 0000000000000 00000
DatagramSocket dgSock = new DatagramSocket(port);
while (true) { // 0000000000000 D0O0
byte buffl[]= new byte[512];
DatagramPacket pal = new DatagramPacket(buffl, buffl.length);
dgSock.receive(pal); // O0O0OOOO
System.out.println("Received!");
System.out.print(new String(pal.getData()));
System.out.println("addr: %s%n port: %s¥%n",
pal.getAddress(), pal.getPort());

// 000000000
DatagramPacket pa2 =
new DatagramPacket(pal.getData(), pal.getLength(),
pal.getAddress(), pal.getPort());
dgSock.send(pa2);
System.out.println("Sent!");

} catch (Exception e) {
e.printStackTrace();
System.exit(1l);
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while (true) {
if (inputl.available() > 0) {
... // inputlO0 00000
} else if (input2.available() > 0) {
... // input20 00000
}o...

}
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OO0 00 TCPThread.java

import java.net.*;
import java.io.*;

public class TCPThread {
public static void main(String[] argv) {
try {
Socket rwSocket = new Socket(argv[®], Integer.parseInt(argv[1]));
InputStream instrm = rwSocket.getInputStream();
OutputStream outstr = rwSocket.getOutputStream();

new Thread(new StreamConnector(System.in, outstr));

Thread input_thread
new Thread(new StreamConnector(instrm, System.out))

Thread output_thread

input_thread.start(); output_thread.start();
} catch (Exception e) {
e.printStackTrace(); System.exit(1l);

0000000 StreamConnector0 00000000 0O0OOO0OOOOOStreamConnectord
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0000 TCPThread.java O O O

class StreamConnector implements Runnable {
InputStream src = null;
OutputStream dist = null;
// 0000000 D0d0dooooooooo
public StreamConnector(InputStream in, OutputStream out) {
src = in;
dist = out;

}

// 00000: O0DOO0O00O0O0Ooooooooooa
public void run(){

byte[] buff = new byte[1024];

while (true) {

try {
int n = src.read(buff);
if (n > 0)

dist.write(buff, 0, n);

}
catch(Exception e){
e.printStackTrace(System.err); System.exit(1l);
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import java.io.*;
import java.net.¥*;

public class Pphttpd {
public static void main(String args[]){

ServerSocket servsock = null;

try { // 00000000000
servsock = new ServerSocket(Integer.parseInt(args[0]));

} catch (Exception e) {
e.printStackTrace();
System.exit(1);

while(true) {
try {
Socket sock = servsock.accept(); // UUOOOOOO
// 000000000000 0000000CO000b0o00ooooooooooon
// 000000000000 00O00000000O00000000 O

// 000000
System.out.println("Request from
+ (sock.getInetAddress()).getHostName());
// 000000000000 0000M 1000000000000 0000O3
BufferedReader in = new BufferedReader/(
new InputStreamReader(sock.getInputStream()));
// println 00000000000 PrintStreamO 000000
PrintStream out = new PrintStream(sock.getOutputStream());
for(int i=0; i<2; i++) { // 00000000 OOOOOOO
in.readLine();
3
out.println("<html>");
out.println("<head><title>Test</title></head>");
out.println("<body>Hello!</body>");
out.println("</html>");
sock.close(); // 0000
} catch (IOException e){
e.printStackTrace();
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